2000 2000
A
=
o T T o1 T o T T o
— = = —
20 | = o = e
© 1 1 o, [ © 1] ©°,
= = S = o
o]
N
1: 20
Pos. Navn: Art. nr.
1 | SKINNE 310 3MM 60000
2 [ SIGMASTOLPE 60200
3 | FESTESATS SIGMASTOLPE 60606
BOLT M10x40
SKIVE 115x40x5
SKIVE 30x30x3
MUTTER M10
4 [ SKJZTEBOLT 60640
SKJPTESKRUE M16x25
FLENSMUTTER M16

VIK VERK AS
6893 VIK | SOGN

SKINNE 3MM MONTERT PA SIGMASTOLPE

CC2 METER

GODKJENT IHT. NS—1317
STYRKEKLASSE N2
SIKKERHETSKLASSE A
CC2 W=4 (1,3M)

Tegning nr.

40002

Rev.

B

Konstr. /Tegnet Dato:

LMH 02.03.07

Godkjent.

JHS

Mal i Mélestokk:

mm| 1:10

KVIK VERK A.S

6893 Vik i Sogn
TIf. 57 69 86 50
Fax 57 69 86 60




